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10.

11.

12.

13.

14.

15.

16.

17.

. Solve the following differential equation x(3ydx +2xdy)+ y*(2ydx +4xdy)=0. [92 55

] fﬁlﬁ”ﬁﬂﬁﬁ ]
Find the solution of 4xdy — ydx = x*dy . [94 ’F |2 T 10%)

Solve xy'—4x’y+2ylny=0 byletting v=Iny. [94 % *4\%&“’?:}”? 18%]

Solve %= (v- x) +x'y. [94ﬁ*[7£ T 10% )
X

Solve the general solution of xy'+2x’ +2xy°—y=0. [94 AT 10%]
Solve (1+xy)y+(1—xy)x% =0. [93 J"A[F1Es[Hr20%]
x

Solve the following differential equation x(In y—Inx)dy =(yIny—ylnx—x)dx.[94 ’F |
_kkrn-[ﬁ&} 1 10%)

Solve (3xey+2y)dx+(xzey +x)dy=0. [94 =R Ff’?lO%]
Solve (2cosy+4x )dx xsinydy. [93 [IT# [~ A 10%]

Find the general solution of the following differential equation:
(—xysinx +2ycos x)dx+(2xcosx)dy =0. [93 ! [?‘:ﬁ&%ﬁ’? 15%]

Solve the general solution of (y2—9xy)dx+(3xy—6x2)dy:O. [94 f}ﬁl?ﬁﬁ%ﬁ’?m%]
Solve xdy—[y+xy’(1+Inx)]dx=0, y(1)=1. [93 & [Hiff§ 15%]

Sove e‘”dx+(e* coty+2ycscy)dy:O. [92 HIL'[%—?&%E’?IS%]

Solve (3coshy+4)dx+xsinhydy=0. [92 :l%ilﬁ.jﬁg'ﬁ’?lo%]

Solve y3+(x2—2xy2)y'=0. [92 :I“ij[ﬁ,'Ji?Q":TTIO%]

Solve the general solution ' = —(3x2y+ 6xy +0.5y° )/(?’x2 +y). (02 J*&[F g (~Fr
20%])
3

dy e'siny r g o s
Solve —=——————_ p(0)==x. [90 7 R[{ 57~ Fr20%
dx y—2e'cosy y( ) 27[ [ i [ﬁljjj 2
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

Solve = 3¥SN2Y=2Y 1 o0 vet g 10%)
dx x—2x"cos2y

Solve (x—2y+3)dx+(2x—4y—3)dy=0. [93 :I“’fi[\(ﬁ@fl’? 10%])

Solve the differential equation (y2 — 6xy)dx+ (3xy —6x° )dy =0, y(1)=-2.[9%4 C,%:E[”FZCT‘
BSHT10% > 93 1% j?‘?ﬁ%"[{’? 15%])

RN ST R s (x° —3xy2)j—y Y -3x'y— y% o [93 Fl 1Bl B 20% )

x =
(a) Is the differential equation xya?x+(2x2 +3y° —20)dy =0 exact? (b) Follow the

above problem, if it is exact, please find the integrating factor first to make it exact. Then
solve the corresponding differential equation. [92 ’F", {”Fj‘:f?ﬁ%’?l’? 15%]

2
Solve =Y 2V (1) =4 193 1] T 10%]

dx X X

Solve (2y+xy)dx+2xdy=0. [93 ju ?%%5?20%]
Solve (y—xyz)dx—(x+x2y)dy=0. [94%(:%{9'5’?8%]
Solve (x—yz)dx+y(1+x)dy=0. [91 Eﬂ*‘\?ﬁﬁ%\%’?lo%]
Solve 6xy+2y+8+xy'=0.[90 %[%ﬁ%ﬂ’?lo%]
Solve dx+(3x—e’2"7)dy=0. [95 & A ESHSET 10% )

Solve cosxdx+(sinx+cos y—siny)dy=0. [95 ‘2%4\?‘:7‘7%5’? 5%])

Solve ¥o Y [oa i 8%]
dx 2x+ye’

Solve (2x’ -y’ —3x)dx+3xy°dy=0. [88 AR 53 57 8%]
Solve (x2 +3y2)dx—2xydy =0.[88 :I‘LE[E{JJ'?JEI’? 8%1]
Solve (3xe"’ + 2y) + (xzey + x) y'=0. [90ai* F:ﬂ‘?jﬁ’fl’? 10%]

Solve (2xy4ey +2xp° + y)dx+(x2y4ey -x’y? —3x)dy =0. [87 HE[FHHT 10%)]




35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45. 7

46.

47.

48.

49.

50.

Solve 2xy' =2y+——2—— y(1)=2e. (91 %[ 77 7%)

(In y—In2x)

Solve yz(y +3x)y (86 FIVRL[™ H7T10%]

Solve xy'—y= —r [ BS AT 12% ]

Iny—Inx
Solve xﬂ—y:¢, y(2)=2. [92,[‘93‘[%%*”"?10% ' 93 % “'\J\FL,[ 5% )
dx Iny—Inx i
Solve (y+x2)dx—xdy=0. [87 4 i IPJﬂHF’?ISA)]

Solve (x*+y*+x)dx+xydy =0. [86 & “ESHAT 7% )
%

Solve 1+x°y*+y+xy'=0. [86 & ~F{55T10%]

—rrT
‘_v‘r

Solve (4xy+6y2)dx—i-(2x2 +6xy)dy =0.[89 :I“”E[f%ii?'fﬁ’? 15%]

Solve (y* +2xy)dx+x’dy=0. [91 J°E[p[FF 10%]
bl

Solve (l—xy+x2y2)dx+(x3y—x2)dy:0. [89 =&+ A Hr 10%]

2y —y* +x7 =0 - [91 FERES ;‘i’:’?IO%
Solve (2cosh y+3x)dx+xsinh ydy=0. [89 ?%J\F%E%Eﬁ 6%]

Find the general solution of the given differential equation.

(y2 +1)dx:ysec2xdy. [91 594\?‘:7‘7%5’? 10%]

Solve cosydx—2(x—y)sinydy—cosydy=0. [88 Hlp[?‘q—’?ﬁ%&}?ﬁ’?ﬁ%]

Solve y':iz(x+y)2. (CURSPES N FL[F’TF‘IO%]
X

The integrating factor of the equation (xy” +4x’y)+(3x’y+4x’ )y =0 is
g g q

(@) x’ +2x°y°
(b) xp*+3x’y
(c) 2x*+x’y
(d) x’y+2x°y°
(e) 2xy+3x’y

[90 7 PR 10%])
Fi
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

Solve (cos2x)y'=2(ysin2x+cos2x). [90 J=&[ [ 1E{=FHr20%]

Solve 6xydx+(4y+9x2)dy=0. [91 FIILI[??%’?[’?IS%]

Solve (y+x"y")dx+3xdy=0. [90 [l [E#57 15%]

Solve (xy+y2+1)dx+(xy+x2+l)dy:O. (91 J*E[p[FV 10% > ’F‘,*ﬁ%{&’ﬁ[’:’l’?]

x}

Solve xy'—y="e". [91 IR p]FVT 10%]
Y

Find the general solution of xdy — [y +xy’ (1+1In x)] dx=0. [90 J"E[H1{FH7r20%]

_ 1 1 .
(a) 55— by f(xy)de+xg(xy)=0 VA TS o
i I:TE!xy f(xy)—g(xy) ( ) ( ) 4
(b) Solve y(x2y2+2)dx+x(2—2x2y2)dy:O. [88 j:’ﬁilﬁq}}—_fﬁ’?lo%]

For what value of & is the function ( y+x)k an integrating factor for the differential

. dy . oI
equation [(y +x)In(y+x)+ y]£+ y=0 and find the general solution. [ 89 F l%—‘[ﬁ,'J;J
= 1 10%]

Solve (2y+e’ +6x*)y'+4+12xy=0. [87 WAt F7 5%]
Solve y+(3y2+y)y'=%. [87 «F’iﬂ%@'%m%]

Solve (2x—10y*)y'+y=0. [90 FEHHSHTT 10%]

Solve 2xyy'+(x—1)y* =x¢". [90 ['J’F‘,%Mﬁ’? 10%]

Solve y(Inx—Iny)dx=(xInx-xlny—y)dy. [90 ﬁ?ﬁ[j T 10%)
3 : 3 N

Solve (1——+x]y +y==-1.[90 7~ FﬁL TRT10%])
y x

Solve (2xe*—y2)dx+2ydy=0. [91 ’F"["\ék fF”EE:Li?i’Z’I’?S%]
Solve y'=(e"—x) . [90 { KT 10%]

Solve (x3 —yz)dx+xy(x+1)dy =0. [90 &y [?‘?ﬁ%‘}?f{’? 10%]
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68. Solve 3’ =(6e" =2x)". [89 fl13f: ek i 5%]

69. Solve y'cosy+2xsiny =2x. [86 [ [~ A1 6%]
70. Solve (" +x)y'=1. [88 ST 5%]
71.Solve 1+(3x—e™)y'=0. [87 {{E[f73 + 77 12%]
72.Solve y'+1=4e”sinx. [86 %[?LT’?IS’;%EI”T 10%]
73.Solve y'=k(xe” +1)—e . [88 iR 17%]
74.Solve y'—1=e"sinx. [89 F e WRHT7%]

75. Solve (ysiny—3xy)y'=y. [89 ‘]%*”Fj‘:fﬁ%ﬁ’? 8%]

76. Solve the following ordinary differential equation sin y% =cos x(2 cos y—2sin’ x). [90
X
IS (™2 A 15%])

77. Find the general solution for the following differential equation:
6xy+2y+8+xy'=0.[90 C%*E[%:’?E{\%ﬂ’? 10%])

78. (a) Is the equation dx+ (3x —e” )dy =0 exact? Explain!
(b) Find an integrating factor 7 ( y) .
(c) Find the solution of this equation. [91 &+ AET15%])

79. Consider the first order differential equation
[p(x)y—q(x)]dx+dy =0
a) Prove that u(x)= eI " s an integrating factor.
(a) grating
(b) Find the general solution. [90 J=&[3k ?CT‘EI’? 15%]

80. Consider y—xy'=0.
(a) Show that the ODE is not exact.
(b) Find an integrating factor x(x).
(c) Find an integrating factor V( y) .

(d) In the integrating factor is 7 =x"y", ab# 0, find all such integrating factor. [88
A SR 20% )

81. Solve (3x+2y)dx+xdy=0. [87 =& {* 7 A+ 7%])
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82.

83.

&4.

85.

86.

87.

B (y=3)dr—(x+y—1)dy=0 - [92 { R §{ T 7%)
Solve (2x-+y)dy = (x+2y)dx. [88 7+ 4]

In both 4 (x,y)=xy and p, (x,y)= (x2 +y’ )71 are integrating factors for the
differential equation "= f(x,y), then whatis f(x,»)? [92 ’F",%i[%’?l?;ﬁ}“ﬁ’? 10%]

dt 1 .
Solve —=———— [94 FFp 17T 10%
v dr sint—rtant (94 % ¥ ]

Solve (sin y)y' = cosx(2 cos y —sin’ x) . [93 ﬁ,’ﬁ[%%ﬁ’? 5%]

2
Solve the following differential equation P_ R}i . [92 ’F i 4\?:‘7&%\&}'5’5[’? 10%]
dx y +2xy+4x
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